Lesson 6-4

© Solve. €) The temperature was 50°F in
the morning. It was 65°F in the

a. 00+ 134=___
afternoon. How much did the
b. 201 — 100 = temperature change?
c. =29 +100 Change
d. =407 - 100 Start| #~ W | End
Number model:

Answer: °F ==
€© Write the number word O Circle the expanded form that
for Q11 shows the smaller number.

300 + 80 + 7

400 + 10 + 1
=

6 Writing/Reasoning Look at Problem 1. What pattern
do you notice when you add 100? When you subtract 100?

one hundred forty-five 145



